Lecture # 3 &4
NATIONAL INCOME
National income is the total income of a country. National income is the aggregate measure of economic activity in an economy during some given period. It is the aggregate of all individual income plus the income of the government. In order to understand the full concept and meaning of NI, we have to understand the meaning of ‘income’ and its sources. When a person takes part in the production of goods and services by providing his personal services or the services of his property, he gets some amount of money or some other benefit in return. This is called his income. People may earn rent, interest, wages, or profit from different sources. Since income is generated only when production of goods and services takes place, the total money value of the goods and services produced will always equal to the aggregate of incomes of the persons helping in that production. National income, national production and national output are alternate terms. From the above premises we can define national income as: 
“Total market value of all final goods and services produced in a country during one year.”
OR
“Sum of all incomes received by households, including wages, rents, interest payments and profits during one year”
Simon Kuznet defines NI as: “The net output of commodities and services flowing during the year from the country’s production system in the hands of ultimate consumers.”  
 You need to remember the following points:
i) Output of current year
ii) Flow of variables
iii) Time period is one year
iv) It should me measured in monetary terms
v) Only the value of final goods and services is to be taken
vi) Incomes from illegal sources must not be included
vii) GNP and GNI are identical terms.
Concepts of National Income: 
It is not enough to know the total income of a country for a particular year. Different concepts of national income have been developed to describe how and where national income is produced;  what part of its is taken by the government through taxes; what part is distributed and , after deducting all taxes, how much is left with the people to spend. The important concepts of NI are:
1) Gross domestic Product: (GDP).  It is the first measure for National Income. All those goods and services which are produced within the boundaries of the country is Known as GDP. Basically two types of firm work in a country. One is the local firms which have its head office with in the country and the other is the foreign firm which has its head office in the foreign country. And also the individuals working in the country will either be local or foreigners. Total value of output, by all kind of firms, which the produce inside the country is included in the GDP of that country. GDP of a country for some year is the total value of goods and services, which have been produced within the geographical boundaries.     
The following points about GDP should be remembered:
i) It is a measure of total domestic production.
ii) Only the value of goods produced in current year.
iii) Growth rate of GDP is used to judge the success of govt.
iv) Increase in GDP is an indicator of growing and expanding economy.

2) Gross National Product (GNP):
GNP is the most common and important concept used to describe the economic performance of a nation. GNP is the measure of the total value of output of goods and services produced by the people in or outside of the country. The term is wider than GDP. It is used as a yardstick to compare the economic growth of various countries. It is defined as:
“GNP of a country for a particular year is the sum of market values of all final goods and services produced for consumption and investment purposes.” 
GNP= GDP plus income received by Pakistanis from abroad minus income of foreigners taken away from Pakistan.
Following points should be remembered about GNP:
i) It is money measure.
ii) To avoid the double counting only the monetary value of the final goods are included in the estimate.
iii) Only the value of goods produced in current year is included.
iv) GNP is calculated either by summing total expenditure on all final output or by summing the incomes derived from production of that output. If expenditure method is used. Then 
GNP= consumption expenditure + investment expenditure + govt expenditure.
v) GNP is used as a measure of a nation’s welfare.
vi) It provides basis for economic comparison of countries.
vii) Increase in the GNP of country is an indicator that the economic performance of a country has improved.

3) Net National Product: (NNP). 
Net national product is also a measure of total value of goods and services produced by a country. It is derived from the GNP of a country. As a rough estimate, GNP is very useful indicator of total production of a country. But if we are interested to have a true measure of what a country is producing and what is available for use, then GNP has serious defects. It ignores the fact that some capital is used up during the process of production in the form of decrease in the value of machinery, building, etc. 
 In order to know the real production of an economy during a year, NNP is calculated. This is done by deducting some amount for depreciation of capital goods from GNP. Depreciation means the reduction in the value of capital goods due to wear and tear during production process. NNP = GNP – Depreciation

4) National Income (at Factor Cost): NNP gives us a measure of national income by adding the values of all goods and services produced by a country in a given period at market price. But sometimes we are interested to know how much of the total product is going to the people as factor cost incomes (wages, rent, interest payments and profit). Thus we find National income at factor cost. Total value of NNP is not distributed among the factor of production. There are two causes of difference between NNP and income received by the people. First, a part of NNP is taken by the Govt as indirect taxes and the second cause is the subsidies paid by the govt to help the industry. National Income (at factor cost) = NNP-indirect taxes + subsidies
5) Personal Income (PI): Personal income refers to the aggregate of all incomes from all sources actually received by the suppliers of factor as landlord, laborer, capitalist and entrepreneur. PI is different from NI for two reasons:
i) Deductions: social security contributions, corporate taxes, undistributed profits
ii) Addition: Transfer payments
6) Disposable Income (DI): Disposable Income or Disposable personal income is the total amount left with the individual and households when they have paid direct taxes out of their personal incomes such as income taxes. DI = PI – Personal Taxes.

METHODS TO MEASURE NATIONAL INCOME:
Measurement of national income is a very difficult task. Income is produced at million of places and by million of people working at fields, factories, offices, shops etc. And there are thousands of ways or activities through which people can receive income. Therefore exact measurement is not possible. Only a good estimate can be made. There are three alternative approaches used for measuring National income. 

1) Product Method: (National income at market price): This method is based on the concept of national income as “total market value of all final goods and services produced in a country during one year.” 
According to this method, the economy is divided in different sectors such as agriculture, manufacturing, transport etc. the net money value of all final production of these sectors in a given year is then added. The income form abroad is also included. This gives us GNP. When the amount of depreciation is subtracted, we get the national income.   Depreciation represents the gradual decrease n the value of an asset. The net value of production of a sector means the gross value of its production minus the value of all purchases made by this sector from other sectors. 
Example: 
	S.No
	Sector
	Net value added (Billion)

	1
	Agriculture
	120

	2
	Manufacturing
	80

	3
	Trade
	50

	4
	Transport and communication
	40

	5
	Construction
	30

	6
	Electricity
	20

	7
	Services
	60

	
	National income
	400


 This method is useful to know the relative importance of each sector in contribution in the National income of a country. 
Precautions:  The following precaution should be made to find out the NI by the method of Production method. 
i) Double counting should be avoided.
ii) Non marketed and unpaid services should not be included.
iii) Must include the value addition to find out the current output.
2) Income Method: (National income at Factor Cost): This method is derived from the concept of national income as “the sum total of the incomes of all the persons of a country during one year.”   
Income method can be used because:
For every rupee of output produced, a rupee of income is created.  
  The income approach to measurement highlights the distribution aspect of national income. People receive incomes in various forms and from various sources. They provide their personal services and receive wages and profits. They also provide the services of their property such as land, building and capital and receive rent and interest. All such incomes are added to arrive at national income. 
Example: 
	S.No
	Source of income
	Amount (Billion)

	1
	Wages and salaries (Workers and employees)
	200

	2
	Rent (Houses and land)
	30

	3
	Interest  (Loan)
	20

	4
	Profit of corporate sector (Joint stock companies)
	50

	5
	Proprietor’s income (small business)
	60

	6
	Indirect business taxes (taken by the govt)
	40

	
	National Income
	400


 The advantage of measuring NI through this method is that we come to know the distribution of national income among various groups of society such as landlords, capitalists, workers and businessmen.
Precautions:
i) Transfer payments such as pensions, gifts, Zakat, and scholarships are not included.
ii) Income from illegal sources should not be included.

3) Expenditure Method:   national income can also be measured by adding the total expenditure made the people and government during a year. Every rupee spent on a good or service is income to somebody, this is, to every rupee of income there is a rupee of expenditure. Thus if we add all kind of expenditure, we can find total income. There are four main categories of expenditure, private consumption expenditure, investment exp, govt exp, and expenditure on imports. Because imports do not represent our domestic production, expenditure on imports is excluded. Instead the expenditure of foreigners on our exports is included. 
Example: 

	S.No
	Item of expenditure
	Amount In billion

	1
	, private consumption expenditure
	250

	2
	investment exp
	50

	3
	govt exp
	90

	4
	expenditure on imports
	10

	
	National Income
	400


If we symbolize, we can write, Y= C+ I + G + (X-M)
Y= N. Income, C= Consumption, I= Investment, G= Govt Exp, X= Exports, M= Imports
Precautions:
i) Expenditure on second hand goods is to be excluded.
ii) Expenditure should be counted once, avoid double counting.
If proper precautions are observed, the sum of values of all final production, the sum of all incomes and the sum of all expenditures will be the same. 
In Pakistan, national income is measure by using all the three methods.     
